nocutony

DVCS

PIO

log10 xB vs log10 Q2

18 x 275

y > 0.005

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

1.8
1.6
1.4

1.2

0.8
0.6

[frrrfrreryprrryprrtrprrrfrirfriry el
AR RN RN RRLE RRLE R R

0.4

0.2

10°

10°

10

y > 0.01

1.8
1.6
1.4

1.2

0.8

0.6

0.4

0.2

1.8

1.6

1.4

1.2

0.8

0.6

| IllIlll|lll|lll|lll|lll|lll|lll

0.4

0.2

1 l-0 ' 5] 11 1




nocutony

5 GeV x41 GeV, L =10 fb-1
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18 GeV x 275 GeV, L = 10 fb-1
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DVCS vy DVMP 70 DVMP y (#° decay)

5GeVx41 GeV,L =10 fb-1, y > 0.01
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DVMP Yy (7° decay) - distributions of opening angle
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